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No. of Questions/S¥l F1 AT : 100
No. of Pages for Questions/SIel @& &I & 4T = 27

Time: 21 Hours | [ Full Marks : 300

w77 : 21 52 [ goifa : 300

Note: (1) This question booklet contains 100 (hundred) questions in all
(30 in Section — A and 70 in Section — B). Atternpt as many questions
as you can. Each question carries 3 marks. One mark will be
deducted for each incorrect answer,

Zero mark will be awarded for each unattempted question.

9w gRadT # gl 100 (&) U § (@ve — o # 30 9 @vs — § H 70) |
ABTRF Ue] B §T P BT YIS Y| UAF T 3 &b BT ¥ | FAD
THT SO P oIy T gP PIer GRAT TG FJRING 9T &1 Uil

I~ BRI |

(2) If more than one alternative answer seem to be approximate to the

correct answer, choose the closest one.

afe TEIfd Tafeas ToR 9E SR @ Aoc 8 o Recay 98 9ex < |
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SECTION - A

9ue -

1. Before teaching, teacher performs :

(1) Identification of objectives (2) Preparation of Lesson Plan
(3) Knowledge of interests of students (4) All of the above

fRwror & qd srgrIe dear &

(1) oedl @ ggEm™ (2) UTS-IIST &1 AT

(3) o ¥ S B TATER) (4) sudea Wi

2. The idea of Basic Education is of :

(1) Mahatma Gandhi (2) Zakir Husain
(3) Jawahar Lal Nehru (4) Maulana Azad
aftrer fem & faam & -

(1) #BTeAT TR &1 (2) wfdR g7 &7
(3) HETER TA TEE Bl (4) AT AR GBI

3. Which of the following Education Systern is prevailing in our country ?
AR ¥ # frer # F B0 Remyoned safed € 7
(1) 10+2+2 (2) 8+4+3 (3) 10+2+3 4) 11+1+3

4. 'Operation Black Board' is related with which stage of education ?

(1) Primary Education (2) Secondary Education
(3} Adult Education (4) Higher Education
TR ®iF qre’ Rmr @ fha srgeerr & waiv@ 8 ?

(1) wefas forem | (2) mafRs e |

(3) g B v (4) w=g fBrn ¥

5. The efficiency of a Principal most often depends on :
(1) Good relationship with the children
(2) Good (cardinal) relationship with the teachers
(3) Good relationship with the parents
{4) Good (cardinal) human relationship

(2)



10.

MSEB/104/19 (Set — 1}
V& YA @) Gereral 959 @9 AR BRD R
(1) FTcAPl B AT W AHAT AN @ R
(2) 3RATTR! B T 3 T gAY WG W
(3) FMEDT & WY AW T g7 Y& )
(4) 3198 FFEER AHERT Y97 /I W

In which country 'Kindergarten Schools’ were first opened ?

(1) Germany (2) England (3) Italy (4) France
FHUERITCT e WeRT yBel el o¥r H @ier 77 o ?
(1) sw (2) gorTE (3) g (4) wrd

Which is the best method of teaching at Primary level ?
(1) Play-way method

(2) Self-learning

(3) Learning by doing

(4) Traditional black board and chalk method

i TR WR RS &1 Gad 3es] Wihl 7T § °

(1) @= 2f

(2) I g

(3) #¥ W@

(4) TRRRTTT wHYeT SR e fafer

'National Council for Teacher Education’ (NCTE) was established in the year :
g AT et aReg (gHo o o o) @Y wuHr fFw af ge oft ?

(1) 1986 (2) 1992 (3) 1973 (4) 2000
Three R's do not include :

(1) Reading (2) Writing (3) Arithmetic {4) Recreation
A e’ (3R's) H afiee 78

(1) ueT (2) forer (3) Sfeford (4) WARGH

Fourth international conference of "UNESCO' on Adult Education was held in:

Ul IR W el & oY SRR W naieTd g3l o
(1) 1948 (2) 1965 (3) 1985 (4) 1975

(3) P.T.0.
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11.

12.

13.

14.

15,

16.

If the day before yesterday was saturday. What day will fall on the day after
tomorrow ?

(1) Tuesday (2) Wednesday  (3) Thursday (4) Friday
IR o9 | B B R R o1, @ 9 B 9K PE-9 R m ?

(1) 9o (2) gEar (3) TEAR (4) Trar
India : Rupee : : Bangladesh : ?

(1) Taka (2) Frenk (3) Leera (4) Gilder
HRE : OO : : GIcee ;7 _

(1) & 2 %@ 3) @ 4) freex

Pointing to a man in photograph, a woman said, "His brother’s father is the only
son of my grandfather.” How is the woman related to the man in the
photograph ?

(1) Mother (2) Aunt (3) Sister (4) Daughter

TF i 3 AR HaT IR ¢ e AR 3 FE, 39 Y S A8 & 1 W e
o @T gepeiT g ¥ I A¥en & R B Tovw @ Far ww # ?

(1) (2) = (3) w&T @ @

Rajan is the son of Kumar, Sheela is the daughter of Rajani. Kumar is Father-in-
law of Rajani. What is relation of Rajan with Sheela ?

(1) Brother (2) Dewar (3) Father {4) Son

I AR BT 93 2, hen ot A @ ) gER, 9 B R £ M a7 e
@ 7 Rear 2 7

(1) i @ (2) I B (3) R @ (4) 93 #

If, it was Monday on January 1st, 2005, what day will be on December 24, 2005 ?
(1) Monday (2) Tuesday (3) Wednesday  (4) Thursday

afe 1 w=ad, 2005 BT AHAR o7 A 24 fBgmR, 2005 BT BT o 8F 7
(1) IFER (2) ATHIR (3) TER (¢) sEERER

Which of the following day will not be the last day of century ?
(1) Sunday (2) Saturday (3) Monday (4) Wednesday

(4)
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18.

19.

20.

21.

MSEB/104/19 (Set — i)
f=ferfea & & w971 fR9 Tl &1 afas R w2t grn ?

(1) <fER (2) wfvEr (3) AHarR (4) ggIR
Myopia is related with Eye, Meningitis is related with which organ ?
(1) Brain (2) Alimentary Canal

(3) Kidney (4) Lungs

HINTOAT 1 W St 9 8 A1 Siemersfew @ e feed § 7

(1) wfx=n (2) AR

(3 &t @ wws
27:16::125:7

(1) 36 (2) 114 (3) 136 (4) 216

If meaning of '+' is 'x', meaning of -’ is '+', meaning of 'x'is '-' and meaning of
‘=" is '+, then what will be the valueof : 9+8 =8 ~4x 9,

AT B SRK, BH , XKH I AR 2wy L A9+8+8 -4x9
@ HE T 8 7

(1) 11 (2)y 17 3) 2 (4) 65

In a line the serial of Sohan is fifth from both the sides, then how many total
persons are there in the line ?

U e § WiEd B $ie aF ok @ dfgdl 2, ar ufde § yo e afd € 2

(1) 6 (2) 7 (3) 8 4) 9
The recently proposed NCHER stands for the following :

(1) National Cultural and Higher Education Report

(2) National Committee of Higher Educational Recommendation
(3) National Commission on Higher Education and Research

(4) National Commission of Higher Education and Recreation

(5) P.T.O.
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22,

23.

24.

25.

el & 3 ynfed go Wlo UHo So 3Ro &1 HeEwd 4 B ¢

(1) e Foue R Toa Rem R
(2) “eee Sffy oo e v

(3) RIS HARE Sw R iR s
(4) IS FHIE I R AR EReE

What is the approximate % (Percentage) of enrollment in higher education in
India at present ?

1 n (2) 12 (3) 13 4) 14
o ¥ Wg ¥ Sem Ren § Aamies we s v 7
(L 11 ) 12 3) 13 @) 14

The 'Sarva Shiksha Abhiyan’ aims for the given :
(1) Universalization of Primary Education

(2} Universalization of Secondary Education
(3) Universalization of Pre-Primary Education
(4) Universalization of Girl Child Education

wmmﬁmm%
(1) v R o1 ardiieRo (2) wrafie fer o1 arhitfie
(3) wd-umufw fen ¥ g (4 =i Ren & e

The Planning Commission proposes to achieve target of ................ Gross
Enrollment Ratio by 2012 in India.

(1) 12% 2) 13% 3) 14% (4) 15%

GRTT AMART @ ITAR 2012 TF ARG oo Fel TR I DY W G
AT |

(1) 12% 2 13% 3 14% 4) 15%

The latest National Curriculum frame work was proposed in which year ?
(1) 2005 (2) 2006 (3) 2007 4) 2008
T U gk 7R o § gl e v e ?

(1) 2005 (2) 2006 (3) 2007 (4) 2008

(6)
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30.
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Who is the Human Resource minister of India at present ?

(1) Mr. P. Chidambaram (2) Dr. Murli Manohar Joshi
(3) Mr. Kapil Sibal (4) Dr. Manmohan Singh
AN A ART BT JHG WA 7 DA 8§ 2

(1) & do RreqswH (2) Sfo AT AR A
(3) & it Rysger (4) Sfo weaET Rig

Which two great educationist of India celebrate their 150 year of birth in 2011 ?
(1) Rabindranath Tagore and Pandit Madan Mohan Malviya

(2) Rabindranath Tagore and Mohan Das Karam Chand Gandhi

(3) Pandit Madan Mohan Malviya and Mohan Das Karam Chand Gandhi

(4) Pandit Madan Mohan Malviya and Swami Vivekanand

& QY #er Ruenfast © o= & 150 |l IRT 2011 H 7971 %87 8 7
(1) T&+= 19 SR 3R Yo #a= A8 ATAArT

(2) W MY SR IR Mg a9 Fore

(3) Ho HEH AIEF HIGTAN IR AT TN BHT Mo

(4) Yo AET HrET ATANY IR WA e

The 2011 Cencus show that adult literacy rate in India hasrisento ................ .

(1) 74% (2) 65% (3) 85% 4) 78%

2011 P} ST @& SFIER ARG B Wg FERAT TR T8 BV oeeviveennennnn, LIRS
(1) 74% @) 65% (3) 85% (4) 78%
Education according to Indain constitution is the subject of which list ?

{1) Union List (2) State List

(3) Concurrent List (4) Provincial List

TR ey & R e fawe fory i # apan 2 2

(1) &= = (2) roa g

(3) wHai g @) forem &

When did Right to Education Act approved by Parliament came into force ?
(1) March, 2010  (2) April, 2010  (3) March,2011  (4) April, 2011
Hag g7 gika fRrn @1 sf¥eR w9 ¥ arg gan ?

(1) =, 2010 (2) =&, 2010 (3) \rd, 2011 (4) 3T, 2011

(7) P.T.O.
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31.

32.

33.

34.

SECTION - B
g~ §

Square root of 1 is :
{ BT I B
(1) £/2(1+9) (2) i——%—(l-{-f) (3) £2(1+1i) {4} ié—(1+f)

.. .. . . 1 1 1
When n is indefinitely increased, the limit of the Sum ~+ ——+ +ot—

n n+i n+2 In

18

Wﬂ#mﬁq&&'ﬁﬁﬁ%?ﬁ++ﬁ}_~+i+ +--E€T?ﬂ7ﬁj

n+l n+2 3n
1
(1} é—log 3 (2) log2
1
(3) 51082 (4) log3

If sin0_ 1013 ,then 8is equal to :

0 10147

(1) 4°24' nearly (2) 4°18' nearly (3) 4°25' nearly {(4) 4°35 nearly

sin O 1013
9 1014’

A OERER B

(1) 4°24' TRT (2) 4°18' @ (3) 4°25' wRrarT (4) 4935 eRTy

The equations x+y +z=6; x—y+2=2; 2x+y-2z=1 have the solution :
AERY X+ y+2=6; Xy +2=2; 2x+y-z=1 P &A ¢ :

(1) x=2,y=1,2=3 2} x=1ly=1,2z=4
3) x=1,y=3,2=2 4) x=1,y=2,2=3

(8)
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36.

37.

38.

39.
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The eccentricity of the conic ==2-5¢0s8 is:
y

MFHg g:2—5cose T Ihedl B

.
3 5 5 2
1) = 2) — 3} = 4) —
(1) 5 (2) 3 (3) 5 (4) 3
e is equal to:
e aRmEv ¥
(1) (sin 0 —icos0) (2) (cos0—isin0)
(3} (sinQ+icos0) (4) (cos9+isinB)
1 2 3}
The rank of matrix |2 1 0]is:
01 2
1 2 3
Magg |2 1 0 &1 &fe 2
01 2
1 1 @) 3 3) 4 ) 2

If the straight lines represented by the equation 3x” —8xy+iy* =0 are

perpendicular to cach other, then the value of 1 is :
afe ANET 3x? —Bay + Ay’ =0 W FefId wwer Y@ W oFan & A A @
9 g

1y 3 (2) -3 (3) 4 (4) -4

Ifa, b, carein AP. and x, y, z are in G.P., then the value of xb_c.yc_”.z““ b is

e a, b, ¢ AR AN R x, y, z TONER AA F F A Py 2778 @ e B

(1) 0 21 (3) 2 (4) 3
(9) P.T.O.
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40. If the cocfficients of x” and x° in the expansion of (3 + ax)? are the same, then
the value of 2 is :

T Q+ax)’ & v § 12 e 0 @ onw v v 8 @ g a1 wE g

7 .9

7 9 < -
(1) =3 2 -- (3) (4) Z

7

41. Equation of the Parabola having focus (2, 0) and Directrix x=~2 is:
A (2, 0) d2r Frgar x= -2 arel aRaay &1 whiEvr &

(1) y? ~8x 2) y?=4x 3) y°®=2x 4) y?ox

42. Value of T(%—] s ;

I[l) & AT B
2
() n 2) n @ = (1) yx
2 2
1 2 -2
43. Inverseof A=1—-1 3 D jis;
0 -2 1
12 -2
A=|-1 3 0 | &1 gepv & :
o -2 1
(3 2 61 1 0 1
ay |1 1 2 2) |3 3 0
2 2 5] 1 -2 1
1 2 1] 1 -1 0
3) 10 3 3 @ |2 3 -2
2 0 1] ~2 0 1

(10)
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46.

47.

48.

MSEB/104/19 (Set - 1)

The plane x + 6y + 4z =8 touches the ellipsoid x? + 12y% + 427 =8 at the point :

HHAA x+ 6y + 4z =8 TEge x? +12y% +422 =8 ® W Fxay &

@ 1,2,1) @) [2, 1 %}
1 1
(3) [l, E, 1] (4) (2, E, 1)

If 10sin*a+15cost a = 6, then the value of 27 cosec®a +8sec® o is:

afd 10sin? @ +15 cos4a=6, ar 27 cosec®o +8sec® o FT HE T -

(1) 220 (2) 230 (3) 240 (4) 250
J!igqﬂ logeny S isequalto:

iiﬁlo log gin y &™) TR F

1) 0 @ 1 @ 5 4) 2
The sum of series 5+ 13 + 21 +...... +1811is:

M 5+13+21 + ... +181F AT B

(1) 580 (2) 585 (3) 590 (4) 595

A positive value of m for which the coefficient of x in the expansion of (1+ x)™

is6is:
m ®1 gTHE A, R e (1+x)™ @ fear 3§ x? @1 yquis 6 8, } -
(1) 4 (2) 3 3) 2 4 1
(11) P.T.O.
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49. The value of cos 510 ° cos 330 © +sin 390 ° cos 120 ° is equal to :
cos 510 ? cos 330 ° + sin 390 ° cos 120 ° &7 A IRER & :

M1 (2) 2 3) -1 (4) -2

50 12 0 ) .
- IfA = 3.1 4 , then the value of AA’ is equal to:

i 2 0
H%A:[3»1 4J,H%TAA FT A aX6N &
' 5 1] 4 2
@ {1 26 | 2 [3 24J
3 5 4] . 1 1
©) 3 17) ()[5 24

51. i f{x)=g(x) and g'(x)=-f(x) for all x and f{2)= 1= f'(2) then
£2(19)+ ¢*(19) is equal to :
afe flx)=glx) AT glx)=-~f(x). ¥ x & A 3R f()=4=F(2) @

F2(19) + ¢%(19) TR 2 |

(1} 16 (2) 32 (3) 48 (4) 64
—3ce
52. If seca :E [O < <—T£J, then the value of a—z———c-()i(f—m is:
5 2 4~9135ec2a~1

1 -
?If:&secaz—gs (O <a<g],?‘ﬁ Z2-Jcota P HHT B

4-9«1/sec2a~1

15 16 17 17
- 2 -2 et 4y~
352 @) 353 ) 354 @ 355

(12)

(1)
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55.

56.

57.
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If number of terms in G.P. <a, >,if 4 =3,4, =96 and S, =189 is:

A gy =3,a, =96 TU1 S, =189, a& IR S <g, > # Ul &I A& X0

(1} 6 (2) 7 (3) 8 4) 9
If x=u(l+v) and y=v(1+ u), then the value of o, y) is :
o(u, v)
e x=u(l+v) AT y=o(l+u), A ox,y) & A BT
oHu, v)
(1) 1+u+v 2) 1+u+2v
(3) 1+2u+2v 4) 1+2u+vw
B(Z 1] is equal to :
“r3) mEEEE
B(z -1—] I T
r 3 N
1 4 16 15
M 3 @ - ® = @ -

Solution of Differential equation ydx —xdy =0 is

HqHAT FHNBIOT ydx — xdy =0 FT A ¥ -

1) F-c @) xy=c (3) x+y=c @ Y=¢
y X
| x—4] =4
The value of right hand limit of the function f(x) = < x—-4 ~ * atx=41is:
0 , x=4
ER T
B f(x) = { x—4 ' @ x=47% G G& A BT A B -
0 , x=4
1 1 ) 0 G) 2 (4) 4

(13) P.T.O.
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58.

59,

60.

If f=(t++%)]+2¢%] -3tk then the value of | f df is:
]

e f=(+t2)i+ 2% -3k, @ ffdt &1 HIN B

23. 14+ 9 » 23, 14+ 9-
1) =Zi+—j+=k N —=i-—j-=k
1) 6 3}1 2 @ 6I 3] 2
23~ 14+ 9~ 23, 14, 9+
3 —i—-—j+=k 4) S+ ——ji-=k
®) 6 3} 2 @) 6l+3}r 2

Equation whose roots are 1, 3 and 4 is :
i o g7 1,3 3R 4 5 2
(1) x°-8x% +19x-12=0 () x° +8x%+19x-12=0

(3) x> -8x% +19x+12=0 @) x3+8x%+19x+12=0

If f:Q—>Q be a function defined by f(x)=6x+7 and Q be the set of all

rational numbers, then f1{y) is equal to ;

oy £:Q->Q WO f(x)=6x+7 TN afenfa & gen Q it uRAw Wl &
Th wgedd B, @ f(y) SRR g

(1) b6~y 2 Y22

@ < @ =¥

(14)
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62.

63.

64.
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The curve 2. ;— + % cos 8 represents :
r

(1) Hyperbola (2) Parabola
(3) Ellipse (4) Straight line
EED g~=—l+lc058 faftT & 2

r 2 8
(1) sfwRae (2) Weey
(3) rege (4) W e

If X and Y are two sets such that n(X)=17,n(Y)=23 and n (x v y) = 38, then the

valueof n(XNY)is:

I X 3R Y & wymmy § 9w n(X)=17,n(Y)=23 IR n(xwy)=38 @
(X Y) BT A9 8

(1) 1 (2) 2 3) 3 (4) 4

Solution of Trigonometric equation 7 cos? 8+ 3sin 6 = 4 is

AR T 7 cosZ 04 3s8in2 0 = 4 T EA &

) nnig,nez @) "—;n
T nm

3) nntl 4 'y

(3) nn 1 (4) ik

o2 f
I f(x,y)=x4 +x2y2 +y4,thenthe value of ~—£ is:
ox 1)

ox?

2
R flx,y)=x* +x%y% +yt, @ {ﬂ) HTAE T
(L1

() 4 2) 7 (3) 12 (4) 14
(15) P.T.O.
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65.

66.

67.

68.

69.

2 13
ValueofL J;xy(1+x+y]dxdy is :

2 3
L ny(1+x+y)dxdy FH A B
(1) 25 (2) 36 (3y 42 (4) 48
Valueof I"1F21-3...1"9 is equal to :

CIV2r3. . r9 a7 |aq &

9/2 972
(3“:)9/2 (5}'{)9/2
3) 70 (4) Nt

T .. Tt
If z=cos —+1s8in—, then :
4 6

. r .. =n
oy z:coszﬂsmg , 4

(1) |z|=1,arg(z) == ) |z]|=1,arg(z)=—
4 6
(3) |z|=—?,arg(z):g§ (4) i:{1=3£-§,arg(z}:’carf1 :/}_—2-
If 17th and 18th terms in expansion of (2 + )™ are equal, then the value ofais:

gfe (2+4)° @ R ¥ 1747 3k 1847 ust % W @R 2, N g & I BN
(H 1 2) 2 (3) 3 (4) 4

If 2+i3=r{cos 0 +17sin D), then :

AT 2+i3=r{cosB+isin D), A :

(1) 8=cos -2 (2) O:cos"’ll?—

N L

3
(3) O=tan” g— (4) Q=sin?

(16)
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74,
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Standard form of reciprocal equation x> + x* + x* —x? = x-1=0 is:

ebd B 10 +x? 4% —xf o x-1=0 b1 9HE GBI B

(1) xP+2x® 4337 4244120 @) x* +2x% +3x2

(3) xt-2x%+3x2 —2x+1=0 @) x*-2x>+3x?

A cubic curve mects a given plane at :

(1) one point (2} two points
(3) three points (4) four points
UH TSR am UH (A T wEad | e @

(1) & fag w (2) < Regat w
(3) o fa=gai w (4) =R fagai =

The value of /2 + \/; y2+2c0s88 isequalto:

\/;—,!2+,/2+2c0589 BT 41 IR B

(1) sin (2) cos (3) 2sin 0

The value of I e dx is equal to
0

=

-2
fe"-‘ dx BT q9 I & ¢
: :

(1) == (2) > @) =

-2x-1=0

—2x-1=0

{4) 2cos0

4) Jr

Which is the rational number having the decimal expansion 0.356 ?

fba yRYY Y= &7 <9hed fawR (1.356 & ?

356 350 353
1} — 2y — 3 —=
A 990 ) 990 ©) 990

(17)

360

(4) 990

P.T.O.
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75. The least value of K which makes the roots of the equation x2 +5x+K =0

imaginary is :
THERY x2 +5x+K = 0 B Hall B FoufAd TN ard K BT GATH 9 B

(1) 4 (2) 5 (3) 6 4 7

76. Ifa, b, ¢, d are four vectors, then scalar product (axb).(cxd) is:

afe a, b, ¢, d aR @fey & @, afey sRomw (axb).(cxd) &

) ab ac 5 be bd
( be bd 2) ad ac
3 ac ad 4 ab cd
) be bd @) ad be

77. Envelope of the straight line xcosa +ysina=p is:
(1) Parabola (2) Circle (3) Ellipse (4) Hyperbola

Gl T xcosa+ysina=p & ARY B :

(1) wae™ (2 (3) g (4) sifRae

78. Modulus and principal argument of 1-7 are respectively :
1-i & Awie AR T SIOET FH: ©
M ¥2, % @ 2, 7

-7 T
(3) V2, - @) 2, >

(18)



79,

80.

81.

MSEB/104/19 (Set - |)
If P is any prime number and 4 is any integer, then the Format's theorem s :

T P BIE IIZA W 8 GUT ¢ BIY QUIie, O BTE 6 ORRE 2
(1) & =a(mod P) (2) P?=P(moda)

(3) P7=a(mod p) 4) 4" =P (moda)

Relation between Integral and Surface integral is :

(1) Gauss Theorem (2) Green's Theorem
(3) Bernoulli's Theorem (4) Stcke's Theorem
FHIHAT AR T8 FAEaq § 99 2

(1) T forg=A (2) = o1 foraRH

(3) =Afel & oA (4) e &1 e

Which of the following is #ot a necessary assumption underlying the use of the

Analvsis of Variance technique ?

(1) the samples are independent and randomiy selected
(2) The populations are normally distributed

(3) The variances of the populations are the same

(4) the means of the populations are equal

(19) P.T.O.
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82.

w0 fgermor Y © g F e v srgwge uReeqqar e
T8 ?

P

Lan

(1) ufcreel w63 @ agfed ger A g T
(2) O 9T YEMER g9 T 8

(3) T AU & TEU U @I B

4) w0 T & A GG 8

ol

g # B

Which of the following is the correct 4 x 4 Latin square design with the

i iven degrees of frcedom for the error 7 ¢ ‘reatments are
correspondin en deg t freedom for th ? The treatment

Ei,Ey,Ezand E; :

2)

(3)

(4)

E,
E,

Es

2 with degrees of freedom for error is 12

with degrees of freedom for error is 15

* with degrees of freedom for error as 6

with degrees of freedormn for error as 63

(20)



MSEB/104/19 (Set — I)
frfafaa & o W) 4 x 4 Afes 7 sifirrey vd Sw g Ry v wadar af
WIS b ford Je w2 ? K, Ey, E3 W@ Ey SY9R §

(1 AT B WSy % R e 12 % wrer

(2) E2 WA B RIETT B R 5 15 @ e

(3). 1 WA & WSl & ford Ffe 6 & A

(4) WAF B WSt B o Fe 63 @ Wy

A 27 factorial design represents :

(1) Eight factors each at two levels
(2) Three factors each at two levels
(3) Two factors each at three levels
(4) Two factors with three interactions

P 2° SgSuET afmenar waldia wxar ®
(1) 3G TUIE TP &l TRl WX

(2) T TF TAF & TR R

(3) T U 9AF AT W W

(@) =1 e N srErEihaa @

(21) P.T.O.



MSEB/104/19 (Set - [}

84. Which of the following are true statements about sampling error ?

85.

A. Sampling error can be eliminated only if a survey is both extremely well

designed and extremely well conducted.

B. Sampling error concerns natural variation between samples, is always

present, and can be described using probability.
C. Sampling error is generally smaller when the sample size is larger.
(1) Aand B (2) AandC

(3) Band C (4) A,Band C

wfoe Ffe & favy @ fFrafofag 4 o @ gegT v & 7

3. gftrem 3o &1 v b o wear @ Al e @ & oo sred] RE 9
sTRYSioas forar 741 §1 (@ Sres! axe W AR [Bar AT &

3. it FR viiget @@= ypfos fgas @ 9wfya 2 w8 a5y Sl 2 @
T WRrendT & Ara | aifa fFar o aear 21

/. gftewe 3w oier war & wafe ufoget o1 sreR TS7 8@l |
() ¥ygq (2) ¥ TN

3) 73T () &7, 9@ H

The process of drawing a sample from a population is known as :

(1) Sampling (2) Complete enumeration

(3) Survey research (4) Statistical enquiry
UFH HT ¥ UF A0EY o @ Ui &) SR 9w 8

(1) wfre (2) ot AT
(3) wdaroT T (4) WiRE®! yodw
(22)



86.

87.

88.

MSEB/104/19 (Set ~ 1)
A population of size 100 is divided into 4 strata of sizes 40, 30, 20 and 10 having
standard deviations 1, 2, 3, 4 respectively. A sample of size 20 selected from the
population using Neyman allocation will have sample sizes from 4 strata,
respectively, as :

100 3THR & v wAfe B 40,30,20 UF 10 WHR B wWR F dter qar § ey fory
qNE @gerd H9e 1,2,3 Y9 4 1 709 e @7 SuEnT o) g8 W 9 U@ 20
PR #T ulidest 4 TRt 9§ yfags smeR e Wy

(1) 2,4,6,8 (2) 3,5,6,6
(3) 4,5,5,6 (4) 4,6,6,4
A crop insurance company establishes the following loss table based upon
previous claims :
persent loss 0 25 50 100
probability S0 05 .02 77?7

If they write policy that pays a maximum of Rs. 150/hectare, their expected loss
in Rs./hectare is approximately :

TS BFd 9 R o Tl @ R w AEfaia ey gt ar et 7
gierere g1 0 25 50 100
iy 90 .05 .02 27?7

zf2 4 ue 0 dhn DY 2 & o ey 150 $o i RN &l HRal &l SAhT
HTI AT " Fo UfY BeeAX H PRIg-®d 8N

(1) 5.2 (2) 7.9 (3) 4.5 (4) 375

The chances that you will be penalized for illegal parking are about 1/3. During
the last nine days, you have illegally parked every day but forunately not been
penalized. Today, on the 10th day, you again decide to park illegally. The
chances that you will be caught are :

(1) greater than 1/3 because you were not caught in the last nine days

(2) less than 1/3 because you were not caught in the last nine days

(3) still equal to 1/3 because the last nine days do not affect the probability
(4) equal to 1/10 because you were not caught in the last nine days

(23) PT.0.
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89.

90.

R @ @fdT B ford sy gfea €M, swast e sd9 1/3 3| o 4t
# g wfafes R e ofdn B AfeT e @ gftsa =21 gul enwr 109 R
e R | R BT aifdT e @ Frewy fBar) sy b IR g9 WRIa
RN

(1) 1/3 9 syrel w9ife fAwa 3 397 § ag g 78 7 O

(2) 1/3 & $1 FfF froa A R F s ves 78 R o

(3) 3t N 1/3 @ wREe JE o & (41 A aorg § wlRear ynfda 78 8l
(4) 1/10 & <& Rife e A R 4 sy v T8 ™

If X and Y are random variables with a common variance 26% and correlation
coefficient p then variance of (X + Y) is

gfe agfRee @) X T4 Y @l WHRI IR 2g? Ud GEAES Oiw p 8 (X + Y)
T YARI[ BT :

(1) 462(2+p) () 46%(1+p)
(3) 26%(1+p) () 40%(1+2p)

Let X be a random variable with probability density function
-3
f(x):%exp{—x2 }; xz3.

What will be E(X) ?

m o 5 X o ugRed W o e wiRear o9« s

f(x):%exp[—i%—i} x23 2

E(X) &1 81 ?
1) 3 Q) 4
(3) 5 (4) 12

(24)



91.

92,

93.

94.

MSEB/104/19 (Set — I)
Which one of the following options is false if X follows a standard normal

distribution ?

FrafaRed & @F-a1 fdwer ot @ 3fd X &1 e oo 99mg 8
(1) p(X<2)=p(X22) (2) p(X20)-p(X<0)=0
(3) p(X<-2)=p(X22) (@) p(X=20)=1/2

The association between two attributes A and B is positive if :

31 U A T B @ 419 W SIS 81, afe

(4)(B) (A)(B)
W D2 am) @ D2 an)
3 (AgéB):(zﬂB) @ WO ap)

If X has normal distribution with mean p and variance 4, the 95% confidence

interval for p based on a sample of size n is :

afe Aeg y TE RO 4 B FII X U T g I@dr @1 o ST 1 atel mfasE
R SR u® T 95% fawangar s=aRTer 819

2 4

(1962 re2582) @ [z Fe258 L
(1) L.1_1.96ﬁ) 2) [xiZ.SBﬁ) (3) [xi-l.%ﬁ) 4) £x12.58 n]

If X is a Poisson variate with parameter X then (~2)% is an unbiased estimator of :

I X v G ax & Roreer wrwer A8 @ (2)% e smfAad snaere 8
(1) exp (-A) (2) exp(=221) (3) exp(-3}) (4) exp(—4A)

(25) P.T.O.



MSEB/104/19 (Set - 1)

95.

96.

If x{,%x3,....,x, 1is a random sample drawn from a population

f(x)= f—1—~, a < x <[, the maximurm likelihood estimators of & and J are :
a

(1) X(U and X(n) (2) X(H) and (1)

Xy + X X1y ~ X,
QT g 2D

3)

(4) sample mean and sample median

respectively, where x(;) = min (Xy, X5, ... x,) and X,y =max (xy, X3, ..., X, ).

1
-
29 o 09 B frg afdwaw Swifda siead wmae BN

(1) Xy T %) (2 Xy V9 xq)

;asx<B @ forar w ga Argfew afige

3 O ;x(”) g 20 ;x‘”) () sfrest mz va Afest mime

I8! Xqy = TLITH (X9, X3, 0, Xp) ) X(n) = ATEAT (X1, Xp, 0oy Xp) B

The least squares regression line is the line :

(1) which has the smallest sum of the squared residuals of any line through the
data values

(2) which is determined by use of a function of the distance between the
observed and the predicted values of Y

(3} for which the sum of the residuals about the line is zero

(4) which has all of the above properties
RETAH g SISO @ Ua QT N 2

(1) & T oiferer 941 A @ ff Y@r & ot arafde) o1 gATw I w2

(2) REH! Y o Jadifda TF JETAd 71 & @r" @ g1 B Bad BT SUART R
g2 fAf¥aa fman i @

(3) fraa ford Y@ & govaa: @} & Inr o= g @
(@) &Y f& SWIw 9l Toravral F1 o @
(26)



97.

98.

MSEB/104/19 (Set - I)
The variance of 10 observations is 5. If each observation is multiplied by 2 and

added with 5, the new variance is :

(1) 5

(2) 10

(3) 20

(4) Variance cannot be obtained based on this information
10 WHol &1 Jav9 5 B Al ydd WEG @l 2 W T fFar 9 vE 3 5 SieT
SR T AT WEROT B

(1) 5

(2)y 10

(3) 20

(4) 39 Ga9 B YR W TRV 919 T8 Far o1 Gear

Which of the following are examples of data condensing ?
(A} Frequency distribution and Ogive (B) Histogram and boxplot
(C} Data array (D) Data collection

Select the correct answer from the options given below.

(1) (A)and (C) (2) (A)and (B)

(3) (C)and (D) 4) (B), (C)and (D)
frfefa & a9 sifesl & e & SeEer § ?

(a1} TRFIRAT d€9 Ug AR @) emad o7 @ g e
(%) sitesT 90 (@) sifosT geatdRor
fFrafolRea 33 el § ¥ wet sar g

(1) (1) @ &) (2) (@) v @)

(3) () w4 (3) 4) @ @) v @)

(27) P.T.O.



MSEB/104/19 (Set - 1)
99. Which of the following index number formula satisfies Factor Reversal Test 7

(1) Laspeyre's formula (2) Edgeworth-Marshall formula
(3) Paasche's formula (4) Fisher's ideal formula
frefafee & o-a1 Eate ¥ 1o fAwty 9dewr 3t G S e ?

(1) IR ¥ (2) USe-ATRie

(3) TR 4T (4) feR &7 a3 ¥

100. By seasonal fluctuation of a time series we mean :
(1} aperiodic movement of serjfes where the period is not longer than a year

(2} a smooth, regular and long-term movement of series when observed long

enough
(3) an oscillatory movement with period of oscillation being more than a year

{(4) both periodic and oscillatory movement with no restriction on the period

TE I AN B g e 9 ¥ B NN e §
(1) AN BT v yrad TR STET oA v o | i T @

@ oof @1 1w gy FafRd vg el Theee S oraffe 9w T e
srgafera fear T 8 |

(3) U@ e TNTHA WET e &) oafd U ad | arfere &

(4) <l emad vE <feds fHE OBl el R wid st 7 8l

(28)



Fwgfelal » forg Ay

(@0 YR & T SRV W qA SIRIA B S YT W Gad Aleft/ drell arr@ige g3 A fored)

1.

10.

11.

12.
13.
14.

e Yfter e & 10 fire @ oFee & 3@ A i yeAas ¥ ol g A § el B
e BT T8 €| YRA@T I U WM WRSHa gl deble Bl RIS 3 dol
O g9 @) g gRET uTR @R o |

. e o ¥ freTET 3w wevud @ ofafen, Rrar 1 wiar #1E A gar s w

RECICE
IIRAF e W A €1 39 7 @ W9 gk 7 # Bypo #1 guwr FOvgg T8
fe9r ST 1 d9er Sav-F BT 8 qogieT [Har arar

. AT B HIF TUT TG BT BHG HYH ROy gv o o FuiRa wm w

fo=d |

. FUCGT P A T YT 4T W 9 S@Are (EiRa v i) ford qor 9 fd gt

& WET BT T/ TE -018] HAvgS § a8 FELYRIPT FT HHIS JUT WS H FRKW
ofaa verr uv ford |

. 3ffo UHo 3fRo A WR I R, YRa-gRad] W 4 Jje ol (Afy g &) wer

TeAYRE®T R AgHHlE FEar AR oo THo ANe gH wedl & yfafeedl # wulermn &
FART & F |

. Saw ufafeat § o1 W aRada wer Mdes g™ w9t 897 wnfed o/ a8 1o

I FYE &1 YA A/IE SR |

. FEgRIET # 9T W @ AR I@fous wiR R @ | mllE gew @ el 9w @

ford sTysT 9TR-9F @) WRa Uled @ A R T g9 @) 99 $ A9 §O W
fd 4 3 & SR U @ T BT 8

, TlAF T B TR 4 dael U B g bl MT | U F WF gel Bl M b

TR AT U g Bl el W= UR g8 IR AT HIAT ST

217 § & e FIv wqrE) gIRT Sfdg gaw §qo7 78] o7 wdar 81 3f< omu AT uee
o1 Fuv & &7 wEd & O wwfue o @ wee R 3w oo @ @l o €
W W WY I R WR |

G PR B ol 39 qReT @ JEys @ IR I g ad1 dfm wrell g &1 wa
|

URIE @ IR I Sl YHo o FUN-UH B URle AT § T I |

e WA BN W Use Ul qaT Y 9Te} O @) argafy wEt el |

i B¢ rdl g # g WA F wanT FRar 7, O 98 [Qeaflened gn fAuia
S &1/ 9N BT/ B
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